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Q1 Nyquist stability criterion

13 attempts, Average mark 9.8/20, Maximum 17, Minimum 1.
An unpopular question. Close to half of the attempts were very competent on most question parts and
achieved good scores. Many of the remainder performed poorly on the bookwork and the application
of the Nyquist stability criterion, which together amounted for 50% of the marks, and provided feeble
attempts at the last two question parts.
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Q2 Bode gain-phase and compensator design

22 attempts, Average mark 10.9/20, Maximum 19, Minimum 1.
A popular question. The standard part (a) was done well by most candidates. The majority of
candidates were on the right lines for Part (b)(i) though few gave completely correct explanations.
Part (b)(ii) caused problems with some candidates failing to correctly interpret spec A. Close to half
of the candidates gave good solutions but with many of the remainder making little sensible headway.
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~ Q3 2 degree-of-freedom design

23 attempts, Average mark 12.6/20, Maximum 20, Minimum 4.
A popular question which was generally well-answered by most candidates. Many candidates failed to
take advantage of the cancelling linear fact in Part (¢)(i) which made the working more complicated.
Many candidates did not see the quick way to find the required transfer function in Part (¢)(ii) and
made mistakes with complicated working. Otherwise, candidates showed a good understanding of the
topic and there were a number of outstanding solutions.






